175576/B

DATE:

8% LAPPSET.

1(6)

1.11.2018

PARTS
DET C

PARTS
DET B

PARTS
DET A

(LEFT)

p}7 dnouy jesddo jybrhdon



Copyright 1998 Lappset Group Ltd

% LAPPSET.

175576/B

DATE: 1.11.2018 2(6)
EN Impact Area 21.1 m2
Falling space 21.1 m2 1:75
Max falling height 1400 mm. 3
3910
a\%ffs
LS IRN
3 (RIS -
= ©
o
n
o
<
2600
| 1:50
| I
2




% LAPPSET. 175576/B

SWING
DATE: 1.11.2018

(3/6)

DET A @24 /13 M12
(980154) (9096447 8ONm (M12)
M12x30 —K)

(903149)

(900965)

£ &
- 45Nm (M10)
10u0E 220,/10.5

(909639) (909638)

M12x30 2 pcs

@24 /13 4 pcs

M12 2 pes

M10x25 2 pcs
©20/10.5 4 pcs

M10 2 pcs

905931 1 pcs

DET A

(909347)
905090

M12x35 6 pcs

024/13 6 pcs

@045 6 pcs
@030 6 pcs

GLUE

Copyright Lappset Group Ltd

/02533 1 pcs

980114 4 pcs
D4x20

702341 1 pcs




% LAPPSET. 175576/B (4/6)
SWING
DATE: 1.11.2018
DET B M12x110
/ (906499)
E 024 /13 M12x110 2 pcs
/" (980154)
(=
901958 , 024/13 4 pes
J < M12 2 pcs
M8x35 _— @24/13
(980154)
M12
(902234) )
901958 1 pcs
M3
CUT EXTRA CHAIN
DET B
9055/7/
DET C
oxo60
905196 1 pcs

Copyright Lappset Group Ltd




% LAPPSET. 175576

CONCRETE BASE
DATE:  1.11.2018

(5/6)

DET A

MT0O

905104

(Q,) 905104 16 pcs

909511 4 pcs

Copyright Lappset Group Ltd




Copyright 1998 Lappset Group Ltd

% LAPPSET.

CONCRETE

175576

DATE: 1.11.2018

6(6)

2670

SCALE 1:40

CONCRETE 250x600x600

K30

DET B




Copyright Lappset Group Ltd

% LAPPSET.
FINNO

903577

DATE: 28.12.2010

1(1)

HUOM!
det 1

NOTE:
det 1

DET 1

Note:
Make sure to straighten
both chains before safety
chain is installed. Twisted
chains may wrap together
and cause premature

wear.

Huom!

Varmistu ketjujen
suoruudesta asentaessasi
turvaketjua. Kiertyneet
ketjut voivat kietoutua
toisiinsa ja aiheuttaa
ketjujen nopeaa kulumista.




11.5.2017

LAPPs

gy ot
ity Mﬂnvmxm

o

123 po
S oy
Tiergy ,;“*"

o
Nz

LAp
gg:lgm?? ET Groy t
FINLANS VANIE d

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.
- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTDP.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 |

lappset@lappset.com | www.lappset.com





